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1.1./ FINANCIAL MANAGEMENT

1.1.1. Meaning and Definition of Finance

Finance is the backbone of any business. A business would not be able to run without finance and may get
deceased. me"lce is basically the art and science of managing monetary resources of a business concern njrrldgis
extremely cruchI for the survival of a business entity. Finance plays an important role, ri gh‘t from the gcncmriur‘l
of the business idea to its day-to-day functioning and upto the liquidation stage of a business. Finance aids in
procurement of various resources such as raw materials, machinery and equipment, human resources etc., and
helps to maintain the smooth flow of business operations. Thus, an efficient and healthy financial management

system in an organisation is essential.

. k] . -
The term ‘Finance’ has been defined in various ways by different schools of thought. Basically, the term
finance revolves around the management of money or financial resources of a business enterprise. The
discipline of finance is concerned with the sources, allocation, application and usage of money by a business

entity for maximising its returns and stakeholder’s satisfaction.
According to F.W. Paish, “Finance may be defined as the position of money at the time it is wanted”.

According to John J. Hampton, “The term finance can be defined as the management of the flows of money
through an organisation, whether it will be a corporation, school, bank or government agency”.

1.1.2. Meaning and Definition of Financial Management
In order to fully

The term ‘Financial Management’ consists of two words — ‘Financial’ and ‘Management’.
to understand the meaning of both words separately. “Financial”

allocating sources of money. “Management” is the process of

grasp the meaning of this term, one needs
for the accomplishment of organisational

denotes the process of identifying, obtaining and
planning, organising, coordinating and controlling various resources

goal.

of business management pProcess, which deals with

Therefore, Financial Management is that branch
Financial management is the skilful and proper

management of financial resources of an enterprise.
management of financial resources.
According to Solomon, “Financial management is concerned with the efficient use of an important economic
resource, namely, Capital Funds”.

According to J.F. Bradley, “Rinancial management is the area of business management devoted to the
judicious use of capital and careful selection of sources of capital in order to enable a spending unit to move in
the direction of reaching its goals”.

According to Howard and Upton, «J7inancial management is the application of the planning and control
functions of the finance functions”.

According to Weston and Brigham, “Financial management is an area of financial decision making,

ha—"mﬂising, individual motives and eriterprise goals”.
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3. Scope/Approaches of Financial Management

f financial management has grown over the years. In this respect,
» scope of hina ms - 3
mght/approaches have given their views:
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ught/Approach: Under this school o : '
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and when required by the organisation. Finance function excluded the utilisation of funds. The g

- The traditional school of thought was develo
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Scope/Approaches of Financial
Management

Traditional School of Thought _L Modern School of Thought
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regarding the application of funds was left to others.

Under this school of though, the scope of financial management was limited to the following functions:
1) Assessment of fund requirements.

il f required funds from financial institutions. N
B e i ancial products like shares, bonds, debentures and raising
loans.

iv) Managing accounting and legal framework of such transactions.

Limitations of Traditional School of Thought/Approach

ped during 1920, and evolved through forties and early fifties

However. by the end of the fifth decade, the popularity of this school of thought started to vanish. The mais
reasons for the decline in 1ts influence are given below:

1) Outsider-Looking-In Approach: The traditional school of thought was mainly COHC'-"'"C‘} with mc_.
acquisition and management of funds, I looked at the finance function through an outsider’s pomt o
View. These outsiders were generall

\ _ ¥ bankers, suppliers, investors, etc. Due to this, the scope of finani
function was restrictad. Iy completely overlooked the importanc

e of internal finance decision-making.
i) Overlooked Regular Issues: This school of thought primarily dealt with the procurement of funds for bis
ucket events such as TRETRErs. acquisitions and j
financial issues

- fcorporations. However, it did not deal with da.\":“"ﬂ
such as acquisition ot working ca ital, il ant and G
e 2 capital, accounts receivable managemen
1) Overlooked Non-Corpo rises: Tradit
Issues faced by carpo o ial o school of tho
such as p

) Overlooked Working Capital Fi

V) Ignored Aflocation of Funds

* This approach did oy ,
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I.1.4.  Functions of Financial Management
Following ane the main functions of financial managcuﬁcnl:

1

2)

3

Functions of Financial Management

Iavestment Decision

Financing Decision

Dividend Policy Decision

Liguidity Decision

Investment Decision: The investment decision is concerned with the identification of assets which require

investment. Assets are classified into two categorices as below:

i) Long-Term Assets: They are the assets which are expected to create value for a long period of time.
Generally, this timie period is longer than one year,

ii) Short-Term Assets: They are also known as current assets. These assets are expected to be converted
into cash in less than a year,

Financial management concerns itsell” with the financing of both kinds of assets. The part of financial

management dealing with current assets is known as working capital management while capital budgeting

part of financial management is concerned with long-term assets. The mix of long-term and short-term

assets determine the risk profile of a business. This mix also determines the cost of capital incurred by a

firm. Investment decisions may be classified into two main calegories:

i) Capital Budgeting Decisions: Capital budgeting decisions are one of the most important decisions
taken by a firm as these decisions may determine the long-term financial health of a firm. These
decisions involve analysis of various alternatives available and determining the best alternatives for
investment. Financial management has developed various techniques for making these decisions.

i) Waorking Capital Decisions: Working capital decisions are short-term in nature. A business nec_:ds_to
properly manage its short-term working capital requirements in order to remain profitable anfl‘hqmd.
An efficient firm maintains an optimal mix of profitability and liquidity. However, profitability and
liquidity are inversely related.
Shortage of working capital may increase the risk profile of the business as it will not be al;!c to meet
its current liabilities appropriately. At the very same time, if more assets arc held than rcqg:rcc}. l_[ will
negatively impact the profitability of the concern. The process of optimising wf\rkmg cap:fu'l- tl:l. Lalll:j
working capital management. For mainlal.mng .prupcr capital m;mulgcmcnl.. 'at.(.uun.tkr.cccs\-a g‘:s :.m
inventory should be managed properly. [:.n;,nc1g1-111;tnugcrs are a!.sn ‘rcquu"nd‘ln ta :,”nun-rc-.ur‘jng
investment decisions. Main examples of these decisions are re-organisatuons, liquidations and mergers.

‘inancing n:’ ancing strategy s the sec strategy of financial management. In investment
Fina dsion: The financing stralegy 1% the second stray ! . :
‘.tr:zcgc; lhne:b‘l“mixr::: the / is planned, whereus financing strategy is related to
M , the asset-

asset structure of the firm 1 _ ‘ ¢ :
the financing mix or the capital structure of the firm or leverage. The capital structure is defined as the ratio
of debt and equity capital of o firm. They have their ow!

» distinet characteristics. The basic difference is in
the fixed wnt. A firm needs 1o pay interest on the borrowed (debt) funds, whether it has earned
rod-a ( C_Um,;?!nl.ll}t n' I:u'\ (w pay interest on borrowed funds even if the firm has suffered loss, but this 1s

odlzsag oo ' holders” funds. The borrowed funds carry risk but are cheaper in

n ses ase 0f share g gl & S o ®
Ot necessary in the case ferred to as the financial risk. The financial risk is defined

; N This risk, 1¢

com ith shareholder’s funds I'his 1isK, . 4 . . .

as u,r:_-a:;::",;&.:l.t] ;;i\l:::.]y due 1o failure 10 payment of interest or failure in repayment of borrowed capital.
- L] Wl -

The shareholders® funds are the fixed source of cup_ilal -f‘ur the firm. They are of two k?nds. \y-hich Iare cqu.ily
share capital and preference share capital The basic difference ht’“‘f‘”‘-‘-" "]"-' '.““’f " lhl'“ equity share capital
is not repayable and do not have tixed m_mnmmenl. but preference share wpnal are repayable and have
fixed commitment like dividend, The preference shares, which h:_m: redecmable Q|\'ltlcnq. are known as
redeemable preference share. ‘The financing strategy decides (he ratio of sources of finance for mvestment.

Dividend Iolicy Decision: Dividend policy decision is another important decision that needs to be taken by
a finance manager. These decisions arc qlu.-.cly reluted to financing decisions. A lnance MANARCr can either
choose to retain the business profits |(III' future or may decide to dlfill‘lbulc lhiem 'among: various stakeholders,
Thus, a finance manager aeeds to decide whether to retain or distribute the firm's profits.
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which also tests the finance manager’s skills.

1.1.5. Significance of Financial Man_agement
Financia) management function is significant in following ways: , '
For all the business operations, finance is the base. Every busines;

1) Finance is the Contralling Function: ’ _
g, manpower planning, etc. involves the flow o

activity. such as production, purchase. sales and marketin : . ;
funds 2nd thus is controlled and monitored by the finance function. So, planning and implementation of 4

the business functions are governed by the function of finance.

2) Aid to Managerial Decision Areas: Financial management plays a vital role in policy and manageri
decision-making in 4 firm. Major business decisions and choices relating to production, marketing, labour
research and development are based on finance decisions.

3) Wealth Maximisation: Financial management has two basic objectives — profit maximisation and shareholders’
wealth maximisation. Finance function aims to achieve maximum profitability through sourcing of funds o
Fﬂpl[ﬂ] at a lower cost and vnlisation of those funds in profitable projects or i'lSSEIS.bIO maximise retums oo
investment. For sourcing and application of funds, finance function has certain techniques such as ratio analyss
budgetary control, cost-volume profitability analysis, cash-flow, fund-flow management, etc. Thus financia
management techniques help in improving the profitability of the business. o )

4 Finﬂ i I i i i 1

) malh:;g;;hl::jg?n};ﬂ lr] an Analytical Tool: Financial management employs a variety of scientifc
e ytical tools and methods for interpretation of data and managerial decision-making

k) Adm1m§lml|\'e in Nature: Unlike before, now-a-day financial m: -
controlling and supervising in nature, Financial manege o ncial management has f:volvcd to be mot
BT Mo e dosatio St Shdnryresigr g cnl_ 15 not only concerned with fund acquisiion

& it Fin i ot cation, sourcmg of funds, project appraisal, etc.

In tion is Centralised: Finance is one such business activi ich i ;
administered centrally. Other business functions s h: : 'c siness activity, which is controliel ¥
5 such as sales and marketing, production, purchase, et¢.- 4" |

mostly scattered and distribu ; vari i
monitored and coordina uted across various verticals ang parameters. Financ ion i  carefll
coordinated in a centralised manner R B
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and directing can be im o S OWEr management functions s : - cpordinstioh
S P b Dle;nemed and achieved, if there ig proper ﬁnancia];spr;;r]:i:h pliilnmng. ler
easure: Financial mana g and control.
ili : gement often de; . [
profitability and risk factors of a bus; eals with those fac ‘ e atfact M
s ] wtors, whic ]y alfect ™
determining the performance levels 0?:?; ct}nccrp. So, financial m“nagﬁm'em usua]]hlL-El.;t?;:La inczl-““" i
erfunctions to stabilise and control Pfﬂﬁﬂéltity and risk factor
i - *

I
a4

Ly

These decisions
s are closely
poper utilis
rmine the coursc 4

4

—

problem.

Scanned with CamScanner



1.1.6. Objectives of Financial Management
The two main objectives of financial management are as follows:

Objectives of Financial Management

Profit Maximisation —'“_

1.1.7. Profit Maximisation

Profit maximisation is the traditional and narrow approach. As per traditional theories, maximisation of profit is
considtffd_m be the sole objective of a business organisation. This theory is also called as cashing per share
maximisation. As per the requirement of a firm, the product price and output are placed under competition to
maumise mﬁ.t_ Profit maximisation is said to be the maximisation of returns by a firm in terms of monetary
resources and increasing the eamings per share of the sharcholders. Firms often select investment proposals,
which suit their prc.nﬁt maximisation criterion. A firm selects only those investment projects which provide
excess profit and reject projects which provide comparatively less profit. Maximising profit by a firm is often
influenced by the input-output relationship, where firms tend to lower their cost of capital and try to achicve
maximum profit and shareholders’ wealth maximisation.

Wealth Maximisation

Thus, with the right selection of project, the firm can maximise its productivity and efficiency in the operational

activities.

1.1.7.1.  Features of Profit Maximisation

Profit is one of the most significant measures for assessing the efficiency of any business or economic activity.

Survival and growth of a business concern also depends on its profit earning capacity. According to the

traditional theories, profit maximisation is the sole objective of a business concern. Some of the salient features

of profit maximisation objective are as follows:

1) Profit maximisation is related to the maximisation of earnings per share of a firm.

2) Increase in profitability is one of the foremost concerns of every business organisation and thus involves
various procedures and methods to maximise profits.

3) Profit is one of the benchmarks of operational efficiency, survival and well-being of a business
organisation, as it reflects its business decisions and policies. ) ‘ i

4) The objective of profit maximisation minimises the risk and uncertainty factors in business decisions and
operations.

LL72. Arguments in Favour of Profit Maximisation

Some of the arguments in favour of the objective of profit maximisation are as follows: %

1) Measure of Financial Stability: Profitability of a firm is an important indicator of its financial stability as
well as economic well-being.

2) Optimum Utilisation of Funds: Profit maximisation in a firm, leads to proper and efﬁci.eqtlchannelismion
and utilisation of surplus funds for productive business operations and other economic activities,

3) Prom Soci nomic Welfare: Increased profit, promotes socio-_cconop\ic .welfarc of various
B!akeh'::l::rs ass:cEi;ac:::d with the firm. It aids in shareholders’ wealth maximisation, increased incentives
and benefits to employees, better and improved products to customers, employment generation, elc,

4) Retai : ined profit acts as a major source of long-term finance for a company. Rctained
eaings wEiJ:hrn:nI?\; Rcf;: of cl:lpilil]. can be utilised for the acquisition of fixed assets, expansion and
modernisation projects of a firm. Thus, outside funding is not required.

3) 3 . Maximisation of profit by a firm helps it to sustain competition from its
mmmmswﬁ?“f%::ae?nﬂvenfds-pm fits, a firm is more capable to sustain its growth and development amongst
severe competition through product development, market development and gaining market share.

5 Desire huge profit, the entry of the shareholders is restricted, subject

for . When the company eams ge prolit, 05 1
0 internal g::t;?lts‘unds for expansion and modernisation. And this, in tum, leads to full control of the
Company to the existing shareholders.
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1.1.7.3.  Limitations of Profit Maximisation _ bl e B
However, the objective of profit maximisation has been qucslmnlc'.dlnmrl rnuuf-c_t s Sl:‘_-’.'-fiﬂ 8
the limitations that are associared with the objective of profit maximisation arc as I'ul'lm.!.__-.:

1) Ambiguity: The complenty with profit maximisation eriterion hui ﬁn‘uuclla?lqddcmsmnjmuki|.g s
term profit & an ambiguous and confusing concept. It has no specific imphication. It is apen |,
anderstanding by different mdividoals, For example, profit may g Y he
profit or rate of profit margin: profit after tax or Pff"ﬁ_l hqut: 1ax. relurn‘nll1 C'Tp'ldl c_'"f"“l-".l'{l or :1%.‘.'-!:|-:hI
retumm on equity. Thus, ac an uhilc'cm‘c of Fmﬁ: maximisation, the issue arises as lo which Varian of Fanrr
business concern should Iy 1 mavinuse. . It

2) Timing of Benefits: A more significant limitation to the objective of profit maximisation is that iy ignore,

differences in timings of the benefits received over the working life of lh.c asset, irrespective of the Pt ;“ .
when they were jeccived. The profit maximisation criterion does not consider the time value of money, "

3) Quulity of Benefits: Perhaps, the most critical limitation of pmﬁi maximisation, as an objective, j thay

ignores the quality aspect of benefits and retums associated with a ﬁnn_ncm] activity. An uncertgy, ar.lj

Muctuanng return tmplies sk to the investors. The problem of unttfrlﬂlnty renders profit Maximisyj,,

unsuitable as n operational criterion for financial decision-making, as it values only the amount of benefy,

peneraled and gives no value to the extent of uncertainty of the future returns. ;

4) Impact on Social Welfare: Increased profits may often lead to the organisation producing such producis
services which may not be beneficial and useful to the society at large. Thus, such objective may SOMetims;
{zil to opumise <ocial welfare.

5) lgnores Fizancing and Dividend Aspects: Another limitation of the profit maximisation objective is thy
effects of financing and dividend decision areas on market price of shares are often ignored, while pursuip
the objective of profit maximisstion. )

r“UFllh. ;;r”
e o

LN
k 1 ; Uiffy,, -
be short-term or long-term: jg .. '

1.1.8. Wealith Maximisation

Wealth maximesation is alsa known as Value Maximisation or Net Present Worth Maximisation. Weal?
maximisation has all the feawres of certainty, quality benefits and timing benefits. The goal of wealt
maximsation ¢ the widely accepted goal of the business, as it reconciles the varied, often conflicting, inters
of the stakeholders. Also, it is free from the limitations that other objectives are faced with,

According to Ezra Solomon, wealth maximisation goal is “The gross present worth of a course of action®
equal o the capitalised value of the flow of future expected benefits, discounted (or capitalised) at a rate whid
reflects the uncertainty or ceriainty, Wealth or net present worth is the difference between gross present worl
and the amount of capitz] investment required to achieve the benefits,”

Shareholders, being the rue owners of a firm, are entitled to the residual profit only. After meeling
commitment to all other stakehoiders, they get the remaining. Shareholders' claim cannot precede that of any otht
stakeholders. Thus, by maxinusation of residual as the objective of the firm, it can safely be stated thit @
preceding commitments have been adequately satisfied. Pursuit of these al encompassing goals by a (im ensure
that the interest of all the different siakeholders is taken care of in the process, as this wealth max imisation &
goal 15 in congruence with the objectives of the varied stakeholders. No firm can bring about sustained increas !
the wealth of its owners, withoul taking care of the interest of its other stakeholders. For example, deteriorit’s
liquidity positon of a fiom makes the lenders, curvent and prospective, worried about its creditworthiness. ™
eventually gets reflected in its share prices and consequently the wealth of the shareholders. Similarly, a fir" ™
cannolt retun jits f:!.lﬂli'!‘lg custemers will witness a decline in its sales and consequently the market price of sha?
The wealth maximisation approach can be more exphcitly defined in the following ways:
Al s & A iR g
T e [ E R T + e & AU --'---_-—F—"—--n - = z_,____l___ -
(1+K)' (1+K) (1+K) (1+K)° SU+HKY

where,
W = Net present worth
Av Azyeernonn Ag= Streams of benefits expected/Future cashflows
C = Cash outlay or cost of action/Cost of project
K = Discount rate/Capitalisation rate
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1.1.8.1.

Features of Wealth Maximisation

Wealth maximisati .
o 1sation ¢ i 4 . g )
riterion has a far and wide range of acceplance, because of its following salient fearures:

1
2)
3)
4)
5)
6)
7
8)

1.1.8.2.  Arguments in Favour of Wealth Maximisation

TR .

Thc\i?iﬁ:;\lﬁwﬁ:ﬂ:::; cl‘iu; li)e given in favour of wealth maximisation as one of the objectives of
L “. ;‘ \ nncrd and cftn be better compared to the objective of profit ma ximis
o ones o u." u‘m_ncss fimis o enhance the value or wealth of the sharcholders.

; i ?sal{‘»n involves the comparison of the value to cost associated with the company.
\\'callh maximisation takes into concern both time value and risk factors of the firm.
\\«ef;lth maximisation promotes and improves optimum and efficient utilisation of resources.
It aims to achieve and fulfil economic obligations of the society.

1)

1.1.8.3.

2)

Limitations of Wealth Maximisation

Issues involved in implementing the goal of maximisation of

1) Incorrect Assumptions: The maximisation of sharehol
cfficient capital market. In reality, the share price in the market i

The idea and : Bl

e 'mnfmnn of Wt“:lllh is distinct and simple to understand.

s I.u- l;rc ‘lmphrtant aid to investment decisions,

' tme adjus : .

Maximising t‘t‘onom;I«}l.,.:lﬁll:r.“c"' ‘,""“C‘ of benefits, thereby reducing the cost of investment.

Wealth ma\imiq-\nnnt, kc ing of its shareholder is one of the parameters of wealth maximisation.

ot iﬂlcgrmc.g g akes into concern both the quantity and quality standards of benefits.

It considers lhalh th : '}l]lllc value of money. risk and uncertainty factors.

It eliminates the ai(:c‘ﬂmh"‘-dc.m )\'t‘.ﬂlh is maximised only when the market price per share is m
ssociated limitations of the profit maximisation objective of financial management.

aximised.

business:
ation, since

shareholder’s wealth:
der’s wealth wrongly presumes that there is an

s subject to extensive fluctuations.

tivities lead to variations in price of shares. Since, an investor is more

of the capital and profit.

3)

4) Justice

shareholders only. Employees,
company. A business firm has to

varied Objectives: In every organisation, there are three basic s
professional managers and creditors. Thus, agency problem may arise,
goals zhead of corporate goals.

to All Social Groups: It is widely

customers, cred

towards different social groups should be honoured.

1.1.8.4.

The Profit Maximisation an
between the two has been summaris

Profit Maximisation vs. Wealt

h Maximisation

d Wealth Maximisation a
ed in the following table:

function in the social context respon

re two conceptually diffe

Speculation: Speculative business ac
concerned about the safety and security of the investment, whereas a speculator is interested in appreciation

takeholders namely shareholders,
i.e.. managers may place personal

reasoned that a business organisation is not concerned with

itors and local societies at large are also associated with the
sibly. Obligations of the company

Wealth Maximisation

Profit Maximisation

Basis of Difference

1) Definition or
Nature

imisation, in simple words,
y either produces maximum
minimum inputs
it is optimisation

The term profit max
means that a compan
output for a given input, or uses
to produce a given output. Thus,

The wealth maximisation for sharcholders
means maximising the wealth of shareholders
by way of dividends and value-creation of a
course of action, in such a manner that the
value of future inflows is maximised.

of the input-output relationship.

The underlying concept  of wealth

2) Purpose or

Concept

The underlying concepl of profit maximisation
is to maximise the profitability of a company
through the core business activity, the company

maximization is to increase the market value of
the shares, which in tum would result in the
wealth  maximization for  the company's

rent phenomena. The differences

'

shareholders.

is engaged in.

The wealth maximisation of sharcholders of a

3) Formulae

The concept of profit maximisation is basfd on
the determination of maximisation of profits as
reflected in the following formula:

Total Revenue Receipts - Total Costs

Profit=

company depends on the share price and
number of shares held by a shareholder, as

reflected in the following formula:
Wealth = No. of Shares Owned X Current

Share Price per Share
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1.1.9. Finance Manager .
The post of & “finance manager’ in a company is a key position. He/she is the person solely responsible

. o . ' g
carying et the Gnance funcoons of a company. He/she is part of the “Top Management’ team and hisfher ol
needs to be extromely cfficient ia solving complicated fund management issues and also acting as the financiy)

advisor 1o the top management.

1.1.9.1.  Functions/Role of Finance Manager in Modern Age
Financial Manager's role has been undergoing a lot of changes and in the present day scenario, he/she s

responsihle and empowered o carry out the following functions:

Functions/Role of Finance Manager in
Modern Age
Ratang Fond of Company —
N : Taking Maximum Benefits from
L Leverage

Intermadens! Finsncisl Deciwon

Investment Decisions

} Risk Managemem
1y Ralsing F unds of Company Finance: 'm: pnme responsibility of a financial manager is to estimate hishet
company s short-temm and long-term requirements, explore the possibilities of raising funds from various sources
e 5 e g - wr " 2 ; " L
“_“‘i exeTCising the best availuble opuon (the most reasonable one with aceeptable terms and conditions). He/she
15 responistble and also empowerad o frame the company's appropriate capital stucture

s | a L] - .
2) Tuking?blmmum .erﬁ_ts from Lt-'.'_rrngc: The Financial Manager has powers to utilise leverages. hoth
Financial” and Operanng’. w the maximum advantage of the company.

3 !nlr.mnﬁfnml Financial Decision: The financial manager of a company is expected to keep him/hef
abreast of Jatest developments taking place n the international market, The o 11}(.‘rrtlmilie-a available in the
I{mj ol vanous denvalives o financial instrements Jike *Credit Default S!Ivﬂp‘ 'll'l[i.:'rc‘\it Rate Swip
Currency Swup'. cic., need to be trapped by humfher with the wim Lo make profit i'ur' his/her a::un'll““'?“

4) lnw:._!nfml Ikﬁ_swm: ‘T'm: hn-.mt‘mt mamager plays an important role 1 Tapital Budgeling' exervise by

applving '.‘:mm- avalable tools and techniques. Net Present Value INPV) 15 one of such techniques which

very populir amongst the Fmancial Managers, Thus technique includes calculution of I;!P‘v' I' ch] !"-*‘IHME ofd
given project and companson thereof. A progosal with hughest NPV iy q:nnsi‘th:rmi o be lh‘: lfcu't ngc Fananctt

Managers have an expertise in the caleulation of NPV and it is thetr responsibili o Bl s best propoy

for a project 1o be implemenied. sponsibility 10 finalise the best |

5) Risk Management: Risk is the part and parcet of 5 pIoject or venture updertaken by a company Athout!
ar un!es itis clearly 'Iusuble _umi sometimes it 15 hidden, Avoidunce of risks lld t“lll ¥y il "-mm];“.}t:t;mi"f‘ o
a business is next to impossible. What is required 1 idenutication ugy r:fﬁ : -1 Ug:-[ e :iunng i ation 4
control) of risk, which is the responsibility of financia manigers, They ; Laj -.m flmmgl e (fl,"“ﬁ: ipilitie®
in this regard, down the line. but they are the one answerable (o (he :;udf"nliz L.L: 1:1 tln:!egfnc IHI-“-H-r;-a prit?
management. They are also responsible, in this connection, for the cuuirdini:?itfl:r?:ll: lltTctilrf:sll:jt:li.nnﬁ like

insurance companies and rating agencies, who have specialised knowledge in the fild of risk manage™™
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1.1.9.2.  Responsibilities of Finance Manager

The finance manager of an organization is responsible for the following functions:

1 Dct_erm.inlng Financial Needs: The financial requirements of an organization are expected to be managed
by its Fmanc? F.:fecutivc. The foremost responsibility in this regard is to assess the level of finance required
by lhc_ organization, which may relate to the fixed and working capital requirements or for meeting the
advertising expenses. The amount of funds required for fixed assets depends upon the industry, the
organization 1s associated with. The fund requirement for investment in fixed asset by a trading entity
would be much less when compared with that of a manufacturing entity, which needs to invest in light to
hf:zwy machlncrfcs and equipment for running its business. Similarly, the working capital requirements are
dlrccll;' proportional to the level of the operations an organization is engaged with higher the level of
upcral'mn.s. lu‘ghcr would be the working capital requirements. Assessment of the financial needs of an
orgaqnzallon s (.Jf paramount importance, in as much as any misjudgement in this regard may pose a
question of survival for the organization. The job of a Finance Executive is, therefore, considered to be

extremely demanding as well as challenging.

2) Choosing the Sources of Funds: Once the financial requirements of an organization have been assessed
properly, the next responsibility of a Finance Executive is to raise the requisite funds. There are various
options available to raise the funds, which may be broadly classified as equity route and debt route. After
taking a decision in this regard, the organization may prefer either of the above routes. In some cases, a

suitable mix of the routes, viz. equity and debt may be resorted.

3) Financial Analysis and Interpretation: Another important responsibility of a Finance Executive is to
analyse the data available through the financial statements of the organization and interpretation thereof. He
should know the profitability, liquidity position, short-term and long-term financial position of the
organization. He needs to keep a close track of the short-term and long-term liabilities of the organization,
and an appropriate plan for their timely discharge. Through the computation of different ratios from the
basic data and their interpretations, can arrive at certain conclusions, and initiate suitable steps in the right
direction. wherever needed. Financial analysis and interpretation has gained a lot of significance as a useful

tool in the field of financial management.
which facilitates the decision-making process with

4) Capital Budgeting: Capital Budgeting is a technique,
expenditures are required to be incurred for the

regard to the expenditures of capital nature. Such
ting fixed assets and acquisition of new fixed assets, both of which

improvement in the efficiency of the exis !
benefits of such improvement in efficiency or new assets may be

are advantageous in the long run, as the : ew 2
reaped over a long period of time. As the capital budgeting is based upon logical and scientific approach,

the decisions taken on its strength rarely go wrong. Various methods, e.g. payback period, rate of return, net

present value, internal rate of return, and profitability index, are available for undertaking the capital

budgeting, and a method most suitable for an organization may be used by it.

Funds required for financing of the current assets or short-term assets,
like cash, inventories, receivable, elc. are termed as working capital. Working capital management entails
maintaining its suitable level, neither in excess nor in shortage. It is a job f‘f extreme responsibility, which
the Finance Executive has to shoulder. Any shortage or cxcess of working capital may result either in
slowing down / stoppage of activities or decline in profitability.

6 Dividend Policy: The sharcholders arc rewarded by a company, for having invested in its shares, or in
dividend, Dividends are paid out of the profit camned by a company .durlmg a particular year. Decision with
tegard to the amount of dividend (in terms of percentage) to be dlsmhulc_d amongst the shareholders is
laken. To decide in respect of such a trade-off of conflicting interests is an important as well as tough job,
Framing of dividend policy, therefore, needs to be carried out very carefully.

LL1, Organisation of Finance Function | |

:.“ 4 tompany of reasonable size, the ‘Board of Directors' (BOD) is the ultimate body responsible for the

¢ function, The Board discharges its functions through 1hc.ChmI‘ Financial Officer (CFO), who is
{ the company. He/she is one of the top management team and as

My - i
g; ,UIW in all important financial decisions O ' / _ nen |
. Paticiputes in crucial policy formulation and implementation thereof with regard to designing of capital

" s # g » Fa ¥ el cha fe « . .
oy e, diversification, acquisition, merger, ete. Besides the policy matters, he/she is also accountable for all

L} . -
day financial matters.

5) Working Capital Management:

h



Finpmeial Manngement and Cost of Capital (Module 1)

: SRRSO I listinet groups:
The pontfolio of o company's CFO may be categorised in lwo ¢ E

Director (Finnnee)

v

Finanee Mannger/

Accounts Manager

Controller
Treasurer
J, —
l l Y ; Financinl Tax

= i Financinl Security Accounting Msiagemeiit

Cagh Credit _ i
Management || Management Planning Floatation

: ¥
Capital Expenditure
Management

Figure 1.1: Organisation of Finance Function

LLI10.1. Functions of CFO as a Treasurer .
Functions of treasurer can be divided into four broad categories: ‘
1) Cash Management Functions: The treasurer functions for cash management involves;
1) Opening & operating accounts and depositing cash & cheques in banks,
1) Timely payment of client due amount.
1ii) Proper keeping and accounting of cash deals.
V) Maintaining and managing day-to-day cash and bank balances.

2) Credit Management Functions: The treasurer functions
1) Safely recording of payment received from debtors,
1) Dealing with discounts and sales for timely payment.
iii) Maintaining and managing proper collection procedures,
iv) Estimating and assessing default risk of the clients.

3) Financial Planning Functions: The treasurer functions for
1) Providing true position of profit & loss of the company.

ii) Preparing the lists of sources from where money can be borrowed.
iii) Estimating cash inflows and outflows,

iv) Preparing investment plans for the organisation.
V) Providing suggestions (o the management for dividend distribution,

4) Security Floatation Functions: The treasurer functions for security floatation involves;
i) Advising the company which security should be taken from the outsiders, which will be helpful
Prompt payment of company liabilities,

ii) Preparing the terms and conditions

for credit management involves:

financial planning involves:

for trustee and record maintaining of agents,

L.1.10.2. Functions of CFO as a Controller
The functions of CFO as a controller are as follows:

1) He/she helps in controlling various activities of

dccounting policies, by preparing the books of acco
control etc,

the business, through the evaluation of ‘*"““"m
unts, financial statements, the internal auditiné
2) Particular contro] activities are:
1} To maintain and analyse the financig]
ii) To manage and control the inventory,
iii) To maintain the proper financial
payroll accounts, cost accounting
iv) To help in securing the assets of
v). To provide finance to the comp
vi) To use statistical methodls for
vii) To use internal auditing,

Slatements and reports,

, ; i e
account of the business by recording the cash receipts, cash P
» Gle. related with

€ management functions of the business:
the company,

any.
better result,
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1.2. COST OF CAPITAL

1.2.1.  Concept of Cost of Capital

b s X rofit
The ‘Cost of Capital’ is the minimum rate of return, which enables a company to make such an amoynt of ps =
on its investment so as to ensure that the market value of the company's equity shares either increases

remains at the same level. This is in conformity with any company's goal of ‘Wealth Maximisation’ for its
shareholders.

‘Wealth Maximisation® for the shareholders of a company is feasible only when the projects financed by the
company (shareholders money) generate revenues at a rate equal..or more than the rate expected by ll}e
shareholders. In case, the company is unable to eam the expected rate of return, the possibility of decrease in
the market value of the company's shares cannot be ruled out, which ultimately may result in erosion of the
shareholders wealth. Some of the prominent authorities on the subject have defined ‘Cost of Capital’ as follows:

According to James C Van Horne, “A cut-off rate for the allocation of capital to investments of project. It is
the rate of return on a project that will leave unchanged the market price of the stock”.

According to Solomon Ezra,
capital expenditures”,

According to Hampton, John J, “The rate o
value of the firm in the market place”,

“Cost of Capital is the minimum required rate of earning or the cut-off rate of

f return the firm requires from investment in order to increase the

In simple words, the minimum rate of return ex

pected by the investors of the business on the projects is called
as cost of capital.

Opportunity cost of capital is the lost value of an investment due to th
projects. For an investor, it is the choice offered to him to invest in one proje

For example, use of fixed assets like vacant land can be us
itfor some other purpose.

e investment made in some other
ct over another.

ed as opportunity cost for the investor if he had used

In financial markets, securities such as equity shares, debentures and
aailable for investment, The rate of return earned from these investmen
€0st of an investment in capital projects, and if the company had inve
er return which is not possible in this capital project. Therefore, i
Consideration of all the factors during investment in the projects.

government gilt-edged securities are
ts (securities) is known as opportunity
sted this money elsewhere it could get
tis advisable for the company to take

E“ term “Opportunity Cost” of the investment is also known as the ‘Minimum Required Rate of
turn’, ‘Cost of Capital’, and ‘Discount Rate or Interest Rate’.

é;i'z- Assumptions/Characteristics of Cost of Capital
h h?f “4pital is characterised by following fundamental features:
ot Necessadly a Cash Cost: Cost of capital, which a company is required to Pay, may not be in the form
ation of the company's s

of cash €very time. Factually, it is indicative of the expect hareholders with regard

a3 10 retumng from their investment.
maie M Rate of Return: Cost of capital indicates the minimum rate of re hich i
ur ; turn, wh S
2:‘"‘31&1!13 the market value of company'’s equity shares, Semp s -
wh;:ﬁ‘!ﬂ‘ptlon of Risk Premium: The risk factor is taken care o
pac likely 1o pe high, if the numbers and degree of risk incr

)

f during computation of ‘Cost of Capital’

eases. In other words, the ‘Cos ital'
gy g gl , ost of Capital
r"“mving fgmp:l::onal to the number/degree of risk mvolved. The concept would be more clear from the
K= Rf+ RP
" K = Cost of required return,

| r= RiSk-frcc rate, and
f » = Risk premium rate.



by ] ital 1 Moduale 13 .
. soqit ad Cost ol Cagpital t I - | |
Financial Managemen! . ailibrium rate of return demanded by e
company 1s equal to the € w
jex at a given degree of risk.

In brief. the cost of capital to a
at which the demand for mone

in the capital markets for secunt
Rate of Return 15 an interest rafe

y and supply of maney 4,

* Equilibrium
equal.
1.2.3. Types/Classification of Cost
!mt]-s'c <f: Future costs are the basis on which financial decisions ape lakey
ost: t happen in future, they are more imporgyy,

of what may or may no are more.
nothing but frozen a figure. However, historical costs e, ik,

The cast may be classified as fol
1) Future Cost versus Historical

Although. they are only projections of W
historical cost, which is

compared 1o the :
furure forccasting.

S ific Cost’ i +ost of individual source of capital
e e | o R l_?nsf: '.Sn?t‘lléc I‘L}’?l l::cl:;:::t.{:f ::lplilnt of ail l-hc sources u[.;cén]:?‘."'“""
the ‘Composiic Cost", also l_umlwp as “Overall fn.l 1s :l' e A ﬂ.t.h.,-;
To start with, the costs of individual murcc?._hk-: debentures, pre cn:nf.bl-r . ”f (i. y ! : L Fetiingg
Earnings. ¢ic. are computed individually (specific cqsis] and thcn:u!tcr L.I].CI,I ation o : DT;!I.'JI:.‘:I[FL‘ Cost iy
be mdfnai;cn. As the “‘Composite Cost’ thus arrived at, takes into account source ol capital TeCeiye)

through cach of the specific source, itis also termed as *Weighted Cost'.
Average Cost versus Marginal Cost: After the calculation of the cost of individual source of capity)

). weights are assigned to each of them in the ratio of their share, The average of this is terpgy

{specific cost B
. ‘Marginal Cost’ on the other hand is defined as “the change i

as weighted average cost or *Average Cost'. an
the total cost that arises when the quantity produced has an increment by unit”.

That is. it is the cost of producing one more unit of a good. When the company raises additional capiy|
onlv from one source. then the ‘Specific Cost” is the “Marginal Cost’. In capital budgeting, ‘Margin
Cost™ is considersd to be more significant. It increases in equal proportion with the increase in the

amount of debt.
Difference between Average Cost of Capital (ACC) and Marginal Cost of Capital (MCC)
—

. Average Cost of Capital (ACC) Marginal Cost of Capital (MCC) 'l

'r DifTerence
IE Marginal Cost of Capital is the incremental cost, |

| T FY
1} Meaning A company’s total average cost of capital
;15 czlculated by incorporating the weights | which is considered at the time of infusion of
; of vanous censtituents of its entire capital | fresh capital, raising the size of the existing |
- structure (e.g. equity, debenture, bond, | capital structure of a company. Cost of the fresh |
term loan, ete) prevailing at a specific | capital, its category and weight assigned to it arc

Sl |
| point of time. the inputs to calculate MCC, i

i 2} Coverage { Average Cout of Capital has a wider Marginal Cost of Capital happens to be .u part of :

| 2}
| . coverage which cannol be a pat of | the weighted average cost of capilal. ;
|

j : :
I i marginal cost of capital,

4) Implicit Cost versus Explicit Cost: The rate of return related to the best investment option available
for a company (and_ its shareholders) which has forgone or lost the Dppnr:u;ii:}r to earn money by
abandoning the project proposal is termed as ‘Implicit Cost’. Once the proposal i‘»‘"lu::cp[uli: the
opportunity cost is immaterial. It may, therefore, be considered as *Economic C(.)Sl' ;:rl'(_)ppnrtunifh

Cost".
For example, the implicit cost of funds kept in a savings bank account is the difference between the rate of

interest available on savings bank deposit and the rate of interest that would have been accrued if 1
amaount have been invested elsewhere like bank FD, Government bonds stock market ‘
- .

Explicit Cost, on the other hand. is the discount rate which equates:
1) The present value of the incremental cash inflows (ine : l
_ s tincremental ; o financt
opportunity). and tal 1o the taking of the financ
i) The present value of the incremental cash outflows,
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Difference between Explicit Cost of Capital and Implicit Cost of Capital

Basis of Difference Explicit Cost of Capital Implicit Cost of Capital o

1) Meaning Tnstant cash payments are associated with | No cash payments are associated with |
the explicit cost, c.g. rent/lease payments, | implicit cost. e.g. loss of interest rate. wages |
wage/salary payments, payments for the | foregone by the owner of a company. etc. |
purchase of raw materials, interest on loan,

etc.
2) Termed They are termed as out of pocket costs. They are termed as economic costs or |
opportunity costs. 1
3) Nature They are measurable and quantifiable, as | They are difficult to measure and quantify, |
they are tangible in nature. as they are intangible in nature. :
4) Recording Explicit costs are part of records of the | Implicit costs are not part of record of the |
books of accounts. books of accounts. |

1.2.4. Factors Affecting Cost of Capital

Cost of capital for a company is influenced by a number of factors (both external as well as internal for the

company), some of which are as follows:
1) General Economic Conditions: This is a factor external to a company’s operational boundaries and

2)

3)

beyond its control. General conditions prevailing in the economy of a country are largely responsible for

demand for and supply of capital and inflationary expectations.

i) In case of an increase in the demand for capital without corresponding increase in the supply thereof,
the cost of capital (interest rate) would be high. In a reverse scenario, where the demand is weak and
supply is sufficient, the cost of capital is likely to be low.

ii) High inflation rate affects the purchasing power of money and results in its reduced value. In such a
condition, investors or shareholders expect a high rate of return as a part of compensation. Cost of

capital, in such conditions, tends to be high.

Market Conditions: Market conditions prevailing at a particular point of time are responsible for the level
of risks associated with a financial instrument. The risk inbuilt in a financial instrument is directly
proportional to the interest offered by such instrument. Investors prefer to invest in a high-risk bearing
instrument only when the rate of interest offered by it is relatively high and attractive enough to enter into
such a risky zone. With an increase in the risk associated with an instrument, an increased rate of interest is
expected by the investors. Such an increase is termed as risk premium. This causes the cost of funds to
inflate. Further, marketability of an instrument and its price stability is equally significant; easy
marketability of a financial product at relatively stable price may bring the investors expectation of rate of
return at a lower level, resulting in lower cost of capital. In the opposite situation, which is poor
marketability and unstable market price of an instrument the investors expectations regarding rate of

interest would be higher and as a result the cost of fund is likely to be high.

Company’s Operations and Financing Decisions: Certain controversial decisions taken by a company
may also result in risks or fluctuations in the return. Risks arising out of such decisions may be categorised

intn two groups, which are as follows:

1) Business Risk, and

1) Financial Risks.

Business risks are the outcome of the company’s investment decisions and are characterised by variable

Teturns on assets. Financial risks are an increase in fluctuation in return to the equity sharcholdcr;. which is

!he result of utilisation of debt and preference share. With an increase in business and financial risks,

Mvestors expectation with regard to rate of return also increases, ultimately increasing the cost of capital.

Vice versa of the above phenomenon is also true, 1.¢., decreased business and financial risks are followed by
decrease in the cost of capital.

Amouny of Financing: Cost of funds is directly proportional to the required amount of funds. With the
:‘:;cased requirement of funds for a company, there is an increase in the weighted cost of capital due to
. “N0us reasons, some of which are mentioned below:
With the issue of more securities or instruments, the cost of selling securities (floatation cost) also tends
' be more, which affects the cost of funds to the company. ;



L

n

podule 1 - . : .

t nount of capital not 1 praposteE with the strengtp of i
mmﬁ' c“,cgmﬂnn of rate of return: increases, which i JurI;
estors &

<i7 .”'ﬂ;ﬂ. — uppﬂWiﬂ of huge amount of Iunc.ls in the absence
ot of ¢4 8 ¢ objectit i ],mcntiu’n o ensure appropriate applicatiop tf
U

peed o reduce the price of the securily or instrument gl

Il
peleva® o s int? teque. | :
wils - 15SUE. =
s} ol = e | ;cnﬁl:d CQ‘E‘“ uf Lﬂpllﬂ.‘-

el : e g G
bor ™™™ asing hr1 . esults in the M€
|

Cost of Capital

o Impo! t mpany, a8 it facilitates certain decision making processes, as may be seey
< 1) I | s
loz i - i I,'n-":lﬂ] [l]r . Ll

il 18 V6 . _ :
Cost u[u;EH; ding: . +Cost of Ca piml' may be considered as EJm: of the most important basis op
fﬂ‘m]hclm ing Decisl 1 ' quisused as arate for discounting cash inflows Lo assess the profitability of
" ‘;:J n capital bucs ‘m%;l:::hudﬁ Further, it is the minimum desired rate of return (projected), which i
Ty 4 1) . n . L] . ¥
a projéc . e ctual rate of return (under the IRR method).
with the AL s : . y
compared ¥ - The objective of minimising cost of capital need to be kept in mind while
2y Copital Sructure - capital cructure of @ company. This would ensure a better market valuc of the
e Ly

planning “E;;TE? financing s the determinant of source of financing.
y. ;

e . g ds upon the projected cost of the capital funds and
e bility: Profitability Of & project depencs 4P : ‘
3 Tm:?:ﬁ:gf the capital fund raised to finance the project. The performance of a project may be

L cm-";f!;m isfactory, if the ptoﬁn-lbi]i[y of the project is more than the projected and actual cost of

capital.
4 Other Decisions: Decisions with regard to the level of dividend distribution, working capital requirements,
etc. are directly affected by the cost of capital. Moreover, the profitability of a project depends upon the

cost of capital. The success Or failure of the projects undertaken by a company is one of the basis of
appraisal of the top management’s performance.

1.26. Problems in Determination of Cost of Capital
Ther e hurdles associated with the assessment of cost of capital, some of which are mentioned in the
following points:
1y Lm?ufn ';he m:.lude afml. Q'mjlmm of Financ_ingl: “Influence of mode and quantum of ﬁn-:m-:.in_g by &
Sy e ::;t 0 capna]_ isa contrm'ﬁl‘f‘ﬂal issue, which has been a matter of debate from time trtt
i lﬂ; S .ﬂl:'IS authorities on the s?h]ec[. Traditional theorists (bﬂloﬂglng to the old SC]'IDO! a
Am_mmg o E::'.mn 1h..at the cost of capital is influenced by the mode and quantum of the ﬁnancmi-:l-
e mod,em Ql;a]'[ '.'Gs" of a CU}HPHH}' may be modified by altering its DCb[-EQUiI}’ Rauo {DE‘R ,1
ity tgn‘:;js (belonging to new school of thought) do not agree with the above "'“.-“r;
e f?: M ller) h':’.)ld a firm view that a company's cost of capital is not concerned “-"1
i the modem mpmncha!wl;lg anq it does not get affected by change in DER. A significan’ prcﬁl"“P“”_f
P l.; ¢ existence of a well developed (perfect) capital market, As (¢ uhﬂ.\:
e o s of a perfect capital market) is not correct, i.e., a perfect capital markel 15 only ¢
o approach does not carry much weight
,;:'lpu{aﬁnn of Cost of |
- n;z:mcal defimition of ¢
— i Tte of ret
c:m?an!r, is alsor con
e fevel of

pumber of lmn?Lcs.
hasis V! ihe
f the

:,jg::?’(:fc'nﬂ"mh}tiun of ‘cost of equity icnpiuﬂ‘ poses a :

um expected b':""'[’"“l may appear to be very simple and explicit. On the busis

sidered as ¢ ¥ the sharcholders of a_company, the equity fund JinACE l-li}!iilﬂ the

M market valye ost of capital. This equity fund financing is capable of maintait o
Pany's sharey ue of the company's shares. In practice. 10 assess the amount expectet

Y olders, 5o as { . of the
¥ 5 - 0 . : . S . : - var yalue
O10RS 11y *‘r_’-*.t‘ ensure maintenance of status guo M respect of the market Value © o,
: upon varous il

S U an g
v g £as el
v Tinanes Lias 3 ark p . % i i Wy 4
Made offon, S F"B""L'hul?"ng' h Market value of a share of any company depends . Experts hatt
tal * 10 quantify ghe 1|~'“‘l- dumestic/international events, political scenario, ete. BXPE T g
225k, 1 shareholders expectations in many wuys, 50 as 1o make the calculauon ¢
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3) Computation of Cost of Retained Earnings and Depreciation Funds: The fund raised through cost of
‘retained earnings’ and ‘depreciation funds’ depends upon the methodology applied for the calculation of
cost of equity capital. As there are contradictory approaches and views in this regard (calculation of cost of
equity capital), it is a dilemma for the officers of a company to opt for an appropriate approach.

4) Future Costs versus Historical Costs: The most commonly held view is that the ‘Historical Costs' are
insignificant, as far as decision making process is concerned and only future projections (Future Costs) are
relevant. Even if the historical costs are totally ignored, the question remains whether to consider Average

Cost of Capital (ACC) or Marginal Cost of Capital (MCC), which is not easy to answer.

5) Problem Relating to Assignment of Weights: Weight assignment for individual category of sources of
funds is a complicated and challenging process. During weight assignment, an option is required to be
exercised whether to choose ‘the book value of each source of funds® or ‘the market value of each source of
funds’. In each of the above cases, the outcomes may differ substantially, which makes it difficult to take a
final view on assignment of weights. In view of the foregoing paragraphs, it may be concluded that
calculation of precise cost of capital is a challenging and perplexing task. The preferred approach should
calculate the range of cost of capital, within which the actual cost of capital lies. Keeping in view the
significance of knowing the ‘cost of capital’ in taking important management decisions, it is necessary for a
company to define the range as mentioned above.

1.3. MEASUREMENT OF SPECIFIC COSTS

1.3.1. Introduction

As the first step, the various sources of funds need to be considered in computing the cost of capital of a
company. Sources of funds may be debentures, equity shares, preference shares, retained earnings, etc. The cost
of individual source is termed as ‘Specific Cost of Capital’. Each specific cost is assigned a weight in the ratio
of their share in the total capital cost, average of which is known as ‘Weighted Average Cost of Capital’ or
‘Composite Cost of Capital’. Computation of cost of capital may, therefore, involve following:

1) Computation of cost of individual sources of capital, and

2) Computation of weighted average/composite cost of capital.

Measurement of Specific Costs
Coit of Debcamue/Debt Cagital (K Cost of Preference Share Capital
Cost of Equity Capital (K Cost of Retained Eamings (K,)

1.3.2. Cost of Debenture/Debt Capital (Kg)

Rate of interest payable by a company on the issued debt instruments is the cost of funds raised by it. However,
taxation is an important issue in ascertaining the cost of debt funds, as interest paid by a company on its debt
instruments is allowed as an expense under the relevant provisions of Income Tax Act. *Cost of debt funds’
may be measured as ‘pre-tax cost’ or ‘post fax cost’ of debt. Other factors required to be taken into account in
calculation of ‘cost of debt funds’ are whether debts are redeemable or irredeemable in nature which may be

issued at par, premium or discount.

132.1.  Cost of Irredeemable Debt/Debentures
A company issuing irredeemable debentures have no responsibility with regard to the repayment of the debr at a

predetermined date and time. It have the power to decide the time and dates to pay back the amount of debt as
long as it is a going concern and does not fails to make interest payment. Therefore, while computing the cost of

imedeemable debentures only the sale amount is taken into consideration.
1) Cost of Irredeemable Debts before Tax: The following different formulae are applied for the calculation

of cost of irredeemable (perpetual) debts issued at (i) par, (i) premium or discount:
i) Cost of irredeemable debt, issued at par

K,, =—]-:-)(100
NP
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%
Where, K4 = Cost of debts

1 = Fixed annual interest payable
NP = Net Proceeds

Example 1: A compuny sells a fresh issue of 10% irredeemable debentures at par to

riise 2,00 00
and realizes the full face value of T100. What is the cost of debt to the firm?

Solution: K, =£Fu 100

Where, '
Fixed Annual Interest Payable (1) = £2,00,000 x 10% = 220,000
Net Proceeds (NP) = ¥2,00,000

. . _ 20,000
Cost of Debts (K )= 200,000

i) Cost of irredeemable debt, issued nt premium or discount

l
K;=—x100
17 NP

x100=10%

Net Proceed (NP) = Fuce value of debt

= discount on issue of de
debenture

— issues expenses like brokerage, underwriting commission

Example 2: Private Ltd. issued 10,000, 10% Debentures of 100 ¢

was ¥25,000. Determine the cost of debentures if they were issued
discount of 10%,

bentures + premium o issue of
» printing and other expenses,

ach on Ist April. The cost of issue
1) at a premium of 10%, and ii) at 3

Solution:
a) Issued at 10% Premium

I
K, =—— |
4 NPX 00

Where,

Fixed Annual Interest Payable (I) = 10,000 debentures x 7100 x 109
=31,00,000

Net Proceeds (NP) = Face value of debt + Premium on, issue of debenture —
= 10,00,000 + 109, — 25,000 =%10,75.,000

Cost of Debts (K,)= 100,000
10,75,000

b) Issued at 109 Discount

X100 =9,30%%

|
Ku —'ﬁ‘i;XIm

Where,

Fixed Annual Interest Payable (I = 10,000 debentures x 7 100 x 109
=¥1,00,000 )
Net Proceeds (NP) = Face valye of debt - Discount op

=110.00,000 - 100 - 75,999 ¢ OF debentures — Cost of issue
= ¥8,75,000

Cost of Debts ( Ky)= 100,000

mxmﬂull.%%

2) Cuyt of Irredecmable Debt
of interest payabje, Howeye

|
p —
Instruments is given by the a7 he
: ital § ¢ 18 an admissip & g

cost of debt capital is reduged g that exteny ; 1ssible

deduction for taxation l'"-“"’c'sLﬂh
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Calculation js done by using following formula:
K, =Fxlm{l—l) or Ky =r(l-1)

Where,
K4 = Cost of debts after tax
I = Fixed annual interest payable
r = Interest rate payable
NP = Net proceeds of the issue
t = Applicable tax rate
Example 3: A company raises ¥2,00,000 by the issue of 10% debentures of ¥100 each payable at par after #

10 years. If the tax rate is 50%, what is the cost of debt to the firm?

Solution: K, = —NIFKIDO(I -1)

Where,
Fixed Annual Interest Payable (I) = ¥2,00,000 x 10% = ¥20,000

Net Proceeds (NP) = 32,00,000
Tax Rate = 50% or .50

20,000
Cost of Debts after Tax (K,)=— x100(1-.50) =5%
5 = (Ke) =2 00000 000

Example 4: B. Ltd. issues ¥1,00,000, 9% debentures at a premium of 10%. The cost of floatation is 2%.
The tax rate applicable is 60%. Compute cost of debt-capital.

Solution: K, =§li—xl00(!-t)

Where,
Fixed Annual Interest Payable (I) = ¥1,00,000 x 9% = 9,000
Net Proceeds (NP) = Face Value + Premium — Floatation Charges
=21,00,000 + 10.000-[1,1{}.000:-: %ﬁ)
= Z1,10,000 - ¥2,200 =¥1,07,800

Tax Rate = 60% or .60

9,000
= . | 1 —06 =3.34% .
Cost of Debts after Tax (K,)={5-005" 00( ) % :
ey

i i . ) is in the 55% tax
Example 5: A company 1Ssues 10% irredeemable debentures of T1,00,000 Th\: company is in the 3
bracket. Calculate the cost of debt (before and after tax) if the debentures are 1ss§1:e_c.l ; _

i) At Par; ii) 10% discount; and 1

iii) 10% premium.

Solution:
Cost of Debt Before Tax

i) Issued at Par:
K, =-!--x100
NP

Where,
Fixed Annual Interest Payable (I) = 21,00,000 x 10% = 10,000
Net Proceeds (NP) = 21,00,000

1,00,000

'y




1.3.2.2.  Cost of Redeemable Debt/Debentures

Redc'cmblc debentures, as the name ilself suggest, can be redeemed by the company at a predetermined date
and time or a-fter a prescribed penqd of notice is given in this regard. The average of sale value and redeemablie
value 1s‘cons1dcred for the calculation of the ‘cost of redecmable debentures’. Different formulae are applied for
calculating the cost of redeemable debts before the tax and after the tax as under:

1

2)

Cost of Redeemable Debt before Tax

" I+(P-NP)/,
T (P+NP)/,

Where,

K; = Cost of debts (before tax)

I = InterestFixed charge per annum

P/RV = Par Value/Face value /Redeemable value of debenture

NP = Net proceed/Price at which the debenture or the bond is sold
n = Number of years

Example 6: A firm issues 10% debentures of T1,00,000 after allowing 2% commission and realizes
198.000. The debentures are due for maturity at the end of the 10th year. Calculate the cost of debt

before tax.

Solution: K, =1+ (E—NP)/y
(P+NP)/,
Where,

Interest/Fixed Charge (I) = Debenture Value x Interest Rate = ¥1,00,000 x 10% = 10,000
Par/Face Value of Debenture (P) = ¥1,00,000

Net Proceed (NP) = ¥98,000
Number of Years (n) = 10 years 3
10,000+ (1,00,000—-98,000)/10

Cost of Debts (before tax) (Ka) == 050077520602
= M =_.103 or 1030%.
99,000

Cost of Redeemable Debt after Tax: Redeemable instruments (debentures or bonds) may be i_ssued at
premium or discount. Its price varies with regard to face value. It is payable after fixed maturity period. The

cost of redeemable debts is calculated by applying following formula:
_{I+1/n(P=NP)J(1-1)
‘ 1/2(P+NP)

Where,
Ky = Cost of debts(after tax),

I = Interest/Fixed charge per annum
P/RV = Par Value/Face value/Redeemable value of debenture

NP = Net proceed/Price at which the debenture or the bond is sold

= Tax l‘ale, ,
n = Number of years in which the debt is t0 be redeemed
bentures of the face value of T100 at a discount of 10% for 10 years,

tax cost of the debt.

Example 7: A company issues 8% de
Assuming 50% tax rate, calculate after-

. _[1+1/n(P-NP) (1-D)
Selation: K, ==/ 27 +NP)

Where,
Interest/Fixed Charge (I) = 100 x 8% = 8
Par/Face Value of Debenture (P) = Y100

Qrannad with CfamQerannar
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Frosiwie Managemest and Cuost of Capetal (o 1)

Net Broveed (NF = Fave Value - Discount = THO - 0% = ™

Nussder of Yoars (m) = 10 years

Tax Rave (0 = 80% o0 30 11-08)

_ (S 1 10000-000 -0 (g or 4.74%
X TN ot : 4 ]'.:-"——-———H e = (R74 ¢ :
Cost of Deds alter ) (K T3 100490)

Example $ A Company iawes T10,00,000, 13% debenture at a discount of 3%, The tebenpygg,
t'ﬁ.k'\"ma'.“'!c atter 5 years at a PNI“:i“n’t \\t' SI.‘,E‘ I'h‘: ‘\1“11\3“:\' '.\PPL\" :\ﬂfi'- X e, Cil.]‘:ll]i“ﬂ' l'l'ﬂ'l-n."l. Ta,‘ .ILPF:L
= "y

after Tax Cost of Deby,

Sohutien:
- NPV
Cost of Dedt before Tax: K, = 2P S0y
P+ NP,
Whhers,

lateresy Fixad Charge (D = TI000000 x 13% = T1,30,000
Par'Face Value of Debenmure (P = Debenture value + Premium
= T1000000 + 3% = T10,50,000
Net Procead (NP) = Face Value - Discount = 210,00,000 - 3% = 19,50,000
Nuomber of Years (n) = 5 vears

3 5 -9,50,000)/5 130,000+ 20,000
Cos1 of Debts (hefore tax) (Ko = 1:30,000+ (10.50.0009.50.000) =

=0.150r 15%
(10.50,000 +9.50,000)/ 2 10,00,000 or 15%

Cast of Debt after Tax: u1=[‘*‘“lP*NPllil*t1
12(P+NP)

Wherm,

Interest/Fixed Charge (1) = ¥10,00,000 x 13% = T1,30,000

Par'Face Value of Debenture (P) = Debenture Value + Premium
=T10.00,000 + 3% = T710,50,000

Net Procead (NP} = Face Value - Discount = 710,00,000 - 5% = ¥9,50,000

Tax Rate () = 50% or .50

Cost of Debts (after tax) (K= 130000 +1/5(10.50,000-9.50,000)](1 -0.5)
1 2(10.50.000 +9,50,000)
” (1.30.000 + 20,000) (0.5) __75000
10.00,000 10,00,000

=0.0750or 7.5%

1.3.3. Cost of Preference Share Capital (Kp)

Preference shareholders are entitled to have a fixed rate of dividend. Although there is no statutory compulsio?
regarding the payment of dividends to the preference shareholders, in case a company decides to ‘pay dividend
to uts shareholders, then preference shareholders would be given priority over other shareholders. Non-payment
of dividend 1o its preference shareholders impacts negatively on the company's reputation and its capacity © |
mobilise funds at an appropriate rate. Funther, dividend expected by preference shareholders has a dis!
relanonship with the cost of preference capital.

There are separate methods of calculating cost of capital in respect (o ‘Redeemable Preference Shares’ and
*lredeemable Preference Shares”,

1.3.3.1.  Cost of Irredeemable (Perpetual) Preference Share Capital
Caost of preference share capital (imedeemable) of a company is generally the dividend payable toits pre forence
shareholders, and is calculated as per the following formula: _

Cast of preference (irredeemable) share capital K| = %

T T S T T T T R e T T T S e e e e 4‘.
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Where, )
= Cost of irredeemable preference share capital

p =Annual preference dividend
NP = Net proceed of irredeemable preference share capital (Face value + Premium — Discount - cost of issue)

As the dividcnd. on preference shares is paid subsequent to the payment of i
any adjustment in e dbove aldiiia. pay of corporate taxes, there is no need for

Example 9: XYZ & Co. issues 20,000 12% preference share: ,
preference share capital, P s of T100 each at par. Calculate the cost of

Solution: ~ Cost of Preference Share Capital {Kp)=%

Where,
Preference Dividend (D) = 20,000 Shares x 2100 x 12% = ¥2,40,000

Net Proceed (NP) = 20,000 Shares x 100 = 20,00,000

2,40.000

—_—— =
30,00,000 100=12%

Cost of Preference Share Capital (K,)=

Example 10: A com;_)an)! issues 10,000 10% Preference Shares of 2100 each. Cost of issue is 2%. Calculate
cost of preference capital if these shares are issued (a) at par, (b) at a premium of 10%, (c) at a discount of 5%.

Solution: Cost of Preference Share Capital (KP)=%

a) Issued at Par
Where,
Preference Dividend (D) = 10,000 Shares x 3100 x 10% = ¥1,00,000
Net Proceed (NP) = Face value - Cost of issue
Face Value = Number of shares x Price of each share
= 10,000 Shares x ¥100 = ¥10,00,000
Cost of Issue = Number of shares x Price of each share x % of Issue
= 10,000 Shares x T100 x 2%
= ¥20,000
NP =10,00,000 - 20,000 = ¥9,80,000

1,00,000

i i x100=10.2%
Cost of Preference Share Capital (K,) 9,80,000

b) Issued at a Premium of 10%

Where,
Preference Dividend (D) = 10,000 Shares x 100 x 10% = ¥1,00,000

Net Proceed (NP) = Face value + Premium — Cost of issue
Face Value = 210,00,000

Cost of Issue = ¥20,000 i
Premium = Number of shares x Price of each share  x % of Premium .

= 10,000 Shares x T100 x 10% = T1,00,000
NP = 10,00,000 + 21,00,000 — ¥20,000 = ¥10,80,000

1,00,000 .
Cost of Preference Share Capital (Kp) = 7555500100 =9.26%

©) lIssued at a Discount of 5%

re,
Preference Dividend (D) = 10,000 Shares x 2100 x 10% =21,00,000
Cost of issue

Net Proceed (NP) = Face value — Discount —

20



Financial Management and Cost of Capital (Module 1)
Face Value = 210,00.000

Cost of lssue = 720000
Discount = Number of shares x Price of each share X
= 10,000 Shares x ¥ 100 x 5% = 50,000

NP = 10,00,000 - 150,000 - 20,000 = 79,30,000

¢ of Discount

ey 100000 66 210.75%
Cost of Preference Share Capital (K;)= 9,30,000 e

Share Capital ‘
they have a maturity date, on which they

1.3.3.2.  Cost of Redeemable Preference
Cost of redeemable preference shyge, i

Redermable preference shares are nol perpetual (continual);
redeemed. They may be issued at a discount or at a premium.

Jeulsted by applying the following formula:
s i - _D4l/n(P-NP)
Cost of preference share (redeemable) capital K, == /2(P+NP)

Where, ,
K, = Cost of preference share (redeemable) capital

D = Annual preference dividend payable
P/RV = Par/Face value/ redeemable value of preference shares

NP = Net proceeds/Issue price of preference shares
n = Number of years

Example 11: ABC & Co. issues 2,000, 10% preference shares of Y100 cach at 795 each redeemable at the ed
of the 10° vear from the year of issue. Calculate cost of preference share capital.

Soluton: & =M
P 1IIAP+NP)

Where,
Preference Dividend (D) = 2,000 Shares x T100 x 10% = 720,000

Par Value (P) = 2,000 Shares x T100 = ¥2,00,000
Net Proceed (NP) = 2,000 Shares x 395 = ¥1,90.000
Nuinber of vears (ny = 10 years

,000+1/10(2,00,000-1,90,000)
1/2(2,00,0004 1,90,000)

21,000
195,000

.
Cost of Preference Shure Capital (K, )=~ %100

x100=10.77%

Example 12: A Company issue 1,000, 7% Preference Shares ab¥é
v ' ahares " : : o enceeiiatt
after 5 years at par. Compute the cost of preference capital, D F100 eadiont- prainiaon of 1 0f.recec

Solution: K. =2 H1/0(P~NFP)
" 12(P+NP)

Where,
Preference Dividend (D) = 1.000 Shares x 2100 x 79
Par Value (P) = 1,000 Shares x T100 = T1,00,000 =500
Net Proceed (NP) = Face value + Premiom = 21,00
Number of years (n) = 5 years A0000+ 10% =3 1,10,000
Cost of Preference Share Capital (K ) = »2%+1750,00,000 - 1,10,00p
1/ 20000000 1 116,050~ X100
= ?'H[_H.}_._- 2,000
: Lusiﬁ"""”ﬂ*"ﬁ-?ﬁ%
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1.34. Cost of Equity Capital (K,)

The cost of equity share capital may be explained as “the minimum rate of return. a company is required fo zarn

on the part of equity financed to its investment in such a manner that the mar}cct val:c.r‘af l-'-i-'itf‘:t; ramnains

unaffected”. This can be calculated by applying following methods: e 4 i

1) Dividend Yield Method: It is also known as dividend-price ratio and is calculated by dividing “dividen
per share’ l_’)’ ‘price per share’. It can also be obtained by dividing “total dividend payment by '; company i
a year’ by its ‘market capitalisation’, provided there is no change in the number of shares. [t is indicated as
a percentage.

W

: ; . D D
Symbolically, Cost of equit tal K,=—x100 or —
y quity capital K, NPX or MPA[OO

Where,
K. = Cost of equity capital
D = Expected dividend per share
NP = Net proceeds per share
MP = Market price per share

There is a presumption. while using this method, that for the shareholders (investors). dividends are
important and the risk perception about the company remains the same.

Example 13: ABC Ltd. has distributed dividend of ¥25 on each equity share of T10. The current markst
price of equity share is ¥60. Calculate the cost of equity as per dividend yield method.

. D
Solution: K, —ﬁxlﬂo
Where,
Expected dividend per share (D) = 325
Market price per share (MP) = 360

Cost of Equity Capital (K,) =%xwo=41.em

Example 14: A company issues 1,000 equity shares of T100 each at a premium of lO‘fJ:-_The company has
been paying 20% dividend to equity shareholders and also expecting to keep same periormance in fumr_e
years. Compute the cost of equity capital will it make any difference if the market price of equity share is

160?

D
Solution: Cost of Equity Capital (K.) = NP -

Where,
Expected dividend per share (D) = 720
Net proceeds per share (NP) = Face value + Premium = 100 + 10% =T110

g ) 20 :.._29. 100=18.18%
Cost of Equity Capital (&Jﬂmno%xlm 1o "

If the market price of equity share is T160

Cost of Equity Capital (K,) =-£—,; %100
Where,

Expected dividend per share (D) = %20
Market price per share (MP) = 7160

20 s
Cost of Equity Capital (x¢)=ﬁx100-12.5%

22



Financial Management and Cost of Capital {Module 1)
; ‘ 1. 4
2) Dividend Yicld Plos Growth in Dividend Method: The basis of this method is the Presumpyi,,
situation. in which there is a growth of a company and also the market value of its share shows o, mrn :
trend, Under such situation, the sharcholders expectations would be more than simple 'l“'u'idcnds; lhg:“"“?
like 10 have a part of the additional profit camed by the company. It may be calculated by using oy, ‘:!ﬂa
formula: Ing

Cost of Equity Capital. K, = %xlm +G
Where, D = Expected dividend per share

NP = Net proceeds per share
G = Growth Rate of dividend

If the NP tnet proceeds per share) in the sbove formula is replaced with MP (market price per share) y, |
result would be the cost of existing equity share capital as under: '

’ D '
i"hf EEP“!T(“J:G :

Where, ;
MP = Market price per share |

Example 15: XYZ Ltd. market prices of the shares are at T120 each. The expected dividend for the next
year is to be 30 per share and funther the dividends are expected to grow at an annual rate of 5% of the |
previous year's dividend. What is the cost of equity shares? |

Solution: K, *—-E—?P-xlﬂih-(}

Where,

Expectad dividend per share (D) = 230
Market price per share (MP) =120
Growth Rate of dividends (G) = 5%

Cost aof Equity Capital (K, ) =%11m +5% =30%

Exnm‘ple 16: The current market price of an equity share of a company is 790, The current dividend pe' ;
share is ¥4.50. The expected growth rate of dividend is 7%. Caleulate the cost of equity capital.

D
Solution: K. = —x{(0+ G
" MP

[}

Where,

Expected dividend per share (D) = T4.50

Macket price per share {MP) = T00 ]
Growth rate of dividends (G) = 7% |

Caost of Equity Capital (K, )= %—;—8 100+ 7% = 5% + 7% = 12%

Example 17: Following are the dividends payment of the company for the last five years: i_
| Year | Dividend per share | '

R 8.5 |
g 90

t .3 10.0

4 i 105 i

L. | 120 |

# H h |
The price of equity share is 7100 per share. The underwriting fee is 220, The expected dividend nf A= ]
share issue is 12 per share. The dividend payout tatio is fixed of the company. |

e i B
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Solution:
Calculation of dividend growth rate = Dividend of per share of 5 year/Divi :
gro W ~gp:‘r‘ :‘nn: oF 57 year/Dividend of per share of 1 year

1.41in -_l years = 9% [Compound (future value) of 1 rupee tables]
The dividend growth rate is 9%,
Kt = %"Im + G

Where,

Expected dividend per share (D) = T12

Net proceeds per share (NP) = Face value — Underwriting fee
=3100-T20=180

Growth Rate of dividends (G) = 9%

Cost of Equity Capital (K,) =;_g.xmo +9% = 15% + 9% = 24%

Earning Yield Melhod; Under the ‘Earning Yicld Mecthod’, the minimum rate of return required to be
carned on the market price of a share is the cost of equity capital, calculation of which is carried out by

applying the following formula:
EPS

3

Cost of equity capital K, = -I-U-P-x 100
or K, = —I::Ex 100
MP

Where,

K. = Cost of equity capital

EPS = Earning per share (Profit after tax/ Outstanding shares)

NP = Net proceeds per share

MP = Market price per share

trading at a price of ¥70 with 5,00,000 outstanding shares. Their

Example 18: A company shares are currently
284,00,000. Calculate the cost of equity capital as per eaming

expected profit after tax for the coming year is

yvield method.

Solution: K, = o>« 100
MP

Where,

Market price per share (MP) =70
Profit after tax _ 84,00,000 _ 716.8

Eaming per share (EPS) = =e ding number of shares ~5,00,000

Cost of Equity Capital (K,):-!%Exlﬂo--m%

Under this method, the cost of existing share capital is calculated, by replacing

4) Earning Growth Method: : hare
‘Growth Rate in Earnings’ as under:

‘Net Proceeds’ with ‘Market Price’ and adding

K,= §-P§x 100+ G
MP

Where,
K. = Cost of equity capital
E = Eamings per share
MP = Current market price of shares
G = Growth rate in earnings
E. V. ot has favoured the earning model to the dividend model. A quotation
from Igﬂ::l;sa?sc:sp::llzl::l ﬁ‘ssﬂ?;lgs model is preferable to dividend model due to different variables
such as tax rate, economic conditions, earnings, shareholder’s reactions™.

24
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3)

Example 19: The current price of an equity share of T10 is quoted in the markcl.;u '?Zl). The Carning 1.
share is T3. Growth rate in eamings is given to be 10% p.a. Calculate the cost of equity based on Caming,
growth model.

EPS

Solution: K, = ——x100+ G
e T i

Where,

Eamning per share (EPS) =33
Market price per share (MP) = 320
Growth mite in earnings (G) = 10% .

BT

Cost of Equity Capital (K,;:%x 100 +10% = 15% +10% = 25%

Realised Yicld Method: Under this method, the deficiencies/shortcomings prevailing in ‘Dividend Yiel4
Method (DYM)' or ‘Earning Yield Method (EYM)' are addressed. Thc methods (D‘f’M and EYM) are
based on the forecasting of dividends and earnings respectively. Possaility of I"orccns_lmg may go wrong,
due to a number of factors (beyond anybody's control) cannot be ruled out. Rr:ah‘scd YI.F.]d Method is baseq
on the actual (not projected) earnings on all the investments. This method helps in ﬁn_dmg out the quantum
of monev financed from ‘equity share capital’ and ‘revenue amount of past profit’. This enables to calculate
cost of equity capital by applying following formula: :
K.o= (W, xWax W;..... W' -1

The wealth/yield of equity for the year is:
w,<DitP
PI-!

Where,

K. = Cost of equity capital

W, = Wealth/Yield for the year t

D.= Dividend per share at the end of the year

P, = Price per share at the end of the yeart

P,_, = Pnice per share at the beginning and at the end of the year

Example 20: The dividend per share for last three years are T10, 212 and 714 respectively. The price P!
share at the beginning of the years was 20, 325 and T30, What will be the cost of equity?

Solation: W, = L Gl

=1

For First Year:

Where,

Dividend per share at the end of the year t (D) =310

Price per share at the end of the year t (P,) =325

Price per share at the beginning and at the end of the year (P,..,) =320

_10+25

W, =%1.75

For Second Year:

Where,

Dividend per share at the end of the year t (D,) =312
Price per share at the end of the year t (P,) = T30

Price per share at the beginning and at the end of the year (P,_,) = 125

12 + 30 —71.68

W, =

Cost of Equity Capital (K.) = (W, x W x..... Wy)"" - |

K.=(1.75 x 1.68)" - 1 = 1.7146 — 1 =0.7146 or 71.46%

Scanned with CamScanner

25



Capital Asset Pricing Model (CAPM): This model is based on the relationship between the ‘required rate

6) of return on a risk-free security’, “the cost of equity capital’ and *non-diversifiable risk of the company’ as
indicated in its index of ‘non-diversifiable risk beta’, as under:

&:R["' b(Km— RE)
or
= Risk free return + B (Market return — Risk free return)
Where,
K. = Cost of equity capital
R = The rate of return required on a risk free assel/security

Kn = The required rate of return on the market portfolio of assets that can be viewed as the average rate of
return on all assets

b = The beta coefficient

Example 21: Calculate the return on investment from the following data/information:

Risk-free return | 10.0%
Market return 12.5%

B 1.5

Solution: Return on investment = Risk free return + B (Market return — Risk-free return)
=10% + 1.5 (12.5% - 10%) = 13.75% ‘

Example 22: The market is giving an average return of 18%. The risk-free return is 11%.
Required

i) What return would be expected from an investment having a B-factor of 0.97

ii) What B-factor would be necessary for an investment to yield a return of 21.6%?

Solution:
i) Return = Risk-free return + [ (Market return — Risk free return)
=11%+09(18% - 11%)=17.3%
i) Return = Risk-free return + B (Market return — Risk free return)
21.6=11% + B (18% — 11%)
10.6% = B (7%) or B = 10.6/7 = 1.51%

135. Cost of Retained Earnings (K;)

A company is not required to pay dividend out of the ‘Retained Earnings’, because it is the amount which is set
?Sidc before taking a decision with regard to dividend distribution. However, to have a view that there is no cost
ivolved in ‘Retained earnings’, may perhaps not be right. Some form of return is expected by the shareholders
from the ‘Retained Earnings’ also. The cost of ‘Retained Earnings’ may be the rate of return, which the existing
shareholders would have got, if the ‘Retained Earnings’ will be invested elsewhere appropriately. In other
Words, cost of ‘Retained Earnings’ is nothing but the opportunity cost of additional dividends, the shareholders
%ould have got, if the ‘Retained Eamnings’ had not been set aside and consider for the payment of dividends.

Por the calculation of the cost of ‘Retained Earnings’, following formula is used:

NP
* K =K, (1-1)(1-b)

Kr=(-P-+G)x(I-t)x(l-b)

Where, K; = Cost of retained earnings
D= Expected dividend
G = Growth rate
NP = Net proceeds of equity issue
L =Tax rate
b = Cost of purchasing securities, or brokerage cost
K. = Rate of return available to shareholders/cost of equity capital
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3
i tax rate of shr_u-eh 3
Ex ; it wolders) is 15%, the average tax Taic ot oldey, :
:mple 23: A firm 5415(: [;relitlrri av mlu;:::lt; :P:;ilrchnlderﬁ will have to pay while investing thejr divris:j:.’i 09,
and it is expected that 4% is brokerage cost thal St ey

b 8
alternative securitics. What is the cost of retained carnings? n

Solution: Cost of Retained Eamnings K,= K, (1 =0 (1=1)

Where,
Cost of equity capital (Ko) = 15%
Tax rate (1) = 60% or .60 .
Cost of purchasing securities, or brokerage cost (b) = 4% or 0.04 P
Cost of Retained Eamings K, = 15% (1= 0.6)(1- 0.04) = 15% X 0.384 = 0.

1.4. OVERALL COST OF CAPITALWEIGHTED AVERAG

COST OF CAPITAL (WACC)

1.4.1. Introduction _ AL
Weighted Average Cost of Capital (WACC) is also known as the ‘Composite Cost of Capital’, ‘Overa|

3 Cost of
Capital’, or *Average Cost of Capital’. It is the minimum rate of interest generated from the project 1o

; : S 1eet the
expectations of the investors. It is defined as the total of weighted average cost of individual soyree, of
financing. Calculation of WACC involves following steps:

1) "Specific Cost’ of each source of finance is calculated individually.

2) Weight is assigned to each *Specific Cost’ in the ratio of their share in the total cost.
3} Then the weighted average cost of individual sources is arrived at.

4) The total of weighted average cost of all the sources is WACC.

The concept of WACC gains importance in view of the fact that its constituents have various sources of funds,
but once they become part of the overall cost of capital, a single homogenous pool is created, which is used for

financing specific projects. While evaluating such specific projects, there is no consideration as to which
individual source of capital is funding the specific project.

The ideal capital structure depicts the minimum WACC,

1.4.2. Systems of Weighting

The assignment of weight to various sources of funds may be carried out in the following two manners:

Systems of Weighting

Hiztorical or Existing Weights

Marginal Weights

1.4.2.1. Historical or Existing Weights

In an existing capital structure of a company, weights are assigned to individual sources of funds in (¢
rano of their share in the total capital. When additional funds are raised by the company, it is presumel

under this method that the ratio of individual components of ; -
s overall capital fu inue to reman
same. In other words, the additional funds would P nds would continue to e

be raised in the sam i feti : ~pure 16
; : € rat1o as t ; ; structure
aptimuim. he existing capital

H'n'-w:ve_r A #e a'bmF presumption may not be true in actual practice, as the companies face certain P"“‘:“"“'ﬂ
difficulties in ensuning that the additional capital is raised in the same ratio, in view of the fullowing‘.

1) The existing Faplt_&i ?!r_u::lur:: nuty not be optimal and it may not be desirable to maintain stans qu° "

respect of vanous individual components of the overall capital uikih .
1 & posilion 1o raise additional capit
Ompany, e.g. demand-supply condi

2} The company may not be i

H > 5 - seons
bevond the conrol of the ¢ al in the same ratio due to various conditiv

10ns, political uncertainty, etc.
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Under the “Historical Weight Method’, lht_:rc are two ways of assigning weights:

1) Book Value Weight: Book value weights are assigned on the basis of the book value of a ‘specific source
of funds’ as shown in the balance sheet of the company. Book value of that specific source of funds is
divided by the book value of the total long term capital.

7) Market Value Weight:. Ma_lrl_cet value weights are assigned on the basis of the market value of a ‘specific
source of funds’, which is divided by the market value of the total sources of long term capital.

142.2. Marginal Weights

The most unfavourable hypothesis, under any of the weighting system is that a company would obtain capital in
a specified ratio of its components. One of the choices (out of several) to assign weights to various sources of
funds in order to calculate the ‘Composite Cost’ of capital is the system of ‘Marginal Weights'. Under this
system, the ratio of various constituents of total sources of funds, the company intends to raise, are understood.
Assignment of weight is, therefore, on the additional or incremental funds raised; or in other words, the
‘marginal weights’.

1.4.3. Computation of Overall Cost of Capital Using Book Value and Market
Value Weights

The weighted average of the cost of different sources is known as the Weighted Average Cost of Capital
(WACC) and is determined by using following formula:
WACC = K.xwl + Kgxw2 + Koxw3

Where,

WACC = Weighted average cost of capital

K. = Cost of equity capital

K4 = After tax cost of debt

K; = Cost of preference shares

wl = Proportion of equity capital in capital structure

w2 = Proportion of debt in capital structure

w3= Proportion of preference capital in capital structure

Alternatively, Weighted Average Cost of Capital is also computed with the tabular format.

Using Book Value Format
Source Book Value Book Value After-Tax Cost Weighted Cost
(1 (2) Weights (3) (%) (4) (%)(5) = (4) x (3)
Equity shares XX XX XX XX
10% Preference shares XX 2" XX XX
Retained Earnings XX XX XX XX
12% Debentures xx XX XX XX
12% Loans XX XX XX XX
XX XX XX XX
4 Weighted Average Cost of Capital XXX %
Using Market Value Format
PR Source Market Yalue Market Value After-Tax Cost Weighted Cost
(1) ) (2) Weights (3) (%) (4) (%)(5) = (4) x (3)
Equity shares XX XX XX XX
10% Preference shares XX XX XX XX
Retained Earnings XX XX XX XX
12% Debentures XX XX XX XX
XX XX XX XX
LA Weighted Average Cost of Capital XXX %

28



Financial Manapement and Cost of Capital (Module 1)

. b I

1.4.4. Advantages of Weighted Average Cost of ('“p.i,“:. "o |

“; -‘.u,mi Average Cost of Capital (WACC) is of paramount importance, i3 K foriTa & base for vigy

n:&:ti:;g pm‘u:.\'m;'.:: and ealeulation of many other useful parameters, ?ll!.d is evident I'rm‘:? }IIH followiny,

ll: WACC 1 considered as a cut-ofl rate in assessing the profitability of a future 1‘r*‘;ILLt-I ‘

1) In determining the viability of a project, WACC is I.-ll-'.cn_ as o mﬁ:r(_:ﬂl:ﬂ I'"““ll"" I"“’ fl”.l_ll'l'n_ Ir

) project 18 forccasted to be more than WACC, then the project 15 ':m.]s“lcn-:(l % “f i h!m”“”!{. if ;
company s earnings are more than the WACC in percentage terms; IS mar f—l value would Incregge ?

31 For the selection of a project, overall cost of capital is taken into consideration as the individyg)
capital is msufficient for ‘Project Selection Process’. .

4) Although. for the ‘Project Selection Process’, a number of options are available, WACC s (pe i
preferved one. .

5y The caleulation of ‘Economic Value Added” (EVA) is carried out by using WACC,

6 WACC shows the minimum rate of return in investment at which a company may crcal_c the invegyq,,
value. therefore it is used as a reference point 1o assess the level uf‘cremmnTof investors’ value, In Cage
the Return on Capital Employed (ROCE) is more than WACC, investor's value would be createg:
otherwise (ROCE being less than WACC) investor's value would not be created.

.hl

I dee
]L'(,m“"
0m s

COSE of

1.45. Disadvantages of Weighted Average Cost of Capital

There are cerain difficulties and limitations of WACC as may be explained from the following:

11 Determination of the Weights: The fundamental problem faced in the determination of the average cog
relates 1o assignment of weights to various individual constituents of total capital, which is a difficult task,

2) Choice of Capital Structure: The option to decide the type of capital structure for the determination
of the average cost is a challenging and difficult task. Various kinds of capital structure are *Current
Capital Swructure”, “Marginal Capital Structure’, ‘Optimum Capital Structure’, etc. Normally, (but not
atways) *Current Capital Structure’ is considered as the optimum capital structure.

31 (Mher Limitations

1) ::ﬁ;ag: Cost of Capital has centain limitations and therefore is not applicable under following
situations: )

4} When the debt policy of a company is under consideration for the fundamental changes.

b} When the dividend policy of a company is under consideration for the fundamental changes.
¢} When a company is considering change in its ‘Growth Objective’,

d! When the ‘Capital Structure' : ‘ _
proportion. P cture’ of a company is under change with regard to its debt-cquity

i) The Jiﬁump!iﬁﬂ that the cost incurred i riisi he nds 1 d, m
n rasin i 1
o -3 ”}, <sible. g the funds is lndcpcndem to the value funds raised, may

ui) gflu %ﬁff;ii’”ﬂd g;itf:n::n:h;fe:;:ﬁ:g fﬂptl;m]d;mrclurc and undergoes changes when additional
s are raised. ! re 0st of additional funds is i i .
estimated. Change in additional financing capital structure would ﬂ:su:‘tﬂq“{!I S aEk 4 o (:ml.y tz
bl in the change of effective 1

Fmplo 24: Calculate Weighted Average Cost of Capital (WACC) from the followin

-

.' Source
| Equity shares capital (20,000 shares) |
| 16% Preference shares capital
F 14% Debentures

i

¢ data of RIL Industrics:

The com d B AR B e
pany pays dividend at 10%. [
ient i 0%. Compute Weighted Average Cost of Capit

al (WACC) based of existin®
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Solution: Computation of Weighted Average Cost of Capital (WACC) of Existing Capital Structure

Sources Amount | Weights | After Tax Cost Weighted Cost
(In Lac) (W) (%) (%)
(n (2) (3) (4 (5)=(3x4d)
Equity Shares Capital 40 0.500 10 5.00
Preference Shares Capital 10 0.125 16 2.00
Debentures 30 0.375 14 5.25
80 1.000 12.25%

Thus, Weight Average Cost of Capital (WACC) = 12.25%

Example 25: The entire capital structure of a company is provided alongwith the tax adjusted cost of each
component. Determine the weighted average cost of capital (WACC).

Components of Capital . 4 Tax Adjusted Cost of Capital
12% Debentures 30,00,000 8%
9% Preference Shares 20,00,000 9%
Equity Shares 50,00,000 14%

Solution:
Computation of Weighted Average Cost of Capital

Tax Adjusted Cost | Weighted Cost
Components of Capital | Amount () | Weights (W) of Capital (%) (%)
(1)) (2) 3) 4) (5)=3x4)
12% Debentures 30,00,000 0.30 8 2.40
9% Preference Shares 20,00,000 0.20 9 1.80
Equity Shares 50,00,000 0.50 14 7.00
1,00,00,000 1.00 11.20%
Thus, Weighted average cost of capital = 11.2%.
Example 26: Mamta Ltd. has the following capital structure:
Source 8
Equity Capital (Expected dividend 12%) | 5,00,000
10% Preference Shares 2,50,000
8% Loan 7,50,000

You are required to calculate the WACC, assuming 50% as the rate of Income Tax, before and after tax.
Solution:

Computation of Weighted Average Cost of Capital

Sources of Funds | Amount |Weights|Before Tax Cost] After Tax Cost| Weighted Cost (%) |
®) (W) (%) (%) Before Tax|After Tax
(1) (2) 3) ) (5) (6=3x4) | (7=3x5)
Equity Capital 5.00,000( 0.333 12 12 4.00 4.00
10% Preference Shares| 2,50,000| 0.167 10 10 1.67 1.67
8% Loan 7,50.000{ 0.500 8 4 4.00 2.00
15,00,000] 1.000 9.67% | 7.67%

Weighted average cost of capital (K,) before tax cost is 9.67%.

Weighted average cost of capital (K,) after tax cost is 7.67%.
Working Note:

Caleulation of Loan (After Tax) = Interest (1 - Tax) = 8% (1 - 50%) = 4%

Example 27: Priyadarshini Pvt. Ltd. has following capital structure:

Sources T
Equity Capital (Expected Dividend 12%) | 10,00,000
10% Preference Capital 5,00,000
8% Loan 15,00,000

Caleulate Weighted Average Cost of Capital assuming tax rate of 50% before and after tax.

30



of Capital (Module 1) i
e Cost of Capital (Ko) Before and After Tax

Financial Management and Cost

Soluticn: Computation of Weighted Averag
'ioupﬂ “TTH&BTT\'@%&T Before Tax | Weighted After Tax Weighteg
GEEadis M T Codt (%) | Cost(%) | Cost(%) | Cost(%)

b o e ] W, L BarT @ | GlaGr |
Equay Capital | 10,00.000 0.33 12 -‘-961 4 3.96
Proference Capital | 500000 | 0.17 10 1.7t p 1.70

{ Loun , | 15000000 | 050 S . _200_|

S Y U O 7.66% |

— Tax Rate) = 8% x (1 - 0.50) = 4%
Tax Cost is 9.66%
Cosl is 7.66%

Terin Loan = Interest % (1
Weighted Average Cost of Capital (K,) Before

Weighted Average Cost of Capital (Ko) After Tax

Fxample 28: M/s Akshay & Co. has the following Capital Structure as on 31* March, 2019:

[ Pparticulars T
ﬁr} Debentures 3,00,000
94 Preference Shares 2,00,000
| Equity (3.000 shares of 2100 cach) | 5.00,000
{ Total 10,00,000

ed at T103 and the company is expected to declare a dividend of

i1 The equity shares of the company are quot
rate applicable to the company as 50%, calculate the weighted

9 per share for 2019. Assuming the fax

average cost of capital.
2 Assuming that the company <an raise additional long-term loan at 12% for ¥5,00,000 to finance on

expansion, calculate the revised weighted cost of capital. The company’s assessment is that it will be ina
powitron 1o icrease the dividend from 39 per share to 10 per share, but business risk associated with new
financmng may bring down the market price from T103 to 296 per share.

Solution:
1) Campotation of Weighted Average Cost of Capital (K,)
' Sources of Funds Amount (7) | Weights (W) | Cost of Capital (%) | Weighted Cost (%)

: (0 i (2) 3) (4) (5)=@x4)

{ 10% Dehentures 3,00,000 03 5 1.5

| 9 Preference Shares i 200,000 0.2 9 1.8
| Bquiry Shares 500000 0.5 8.7 435 |
| {0 10,00,000 L.00 7.65 =

Thus, Weighted Average Cost of Capital (K,) = 7.65%

Warking Note:
Cost of Eqaity Share (K,) =—2D0dead o _ % 100 =
quity (R = e 100 =-x100 =8.7%
Cout o Pebirence Share Capitil(K , )=—2- = S2000 . o
Capi 2 lm.ﬁmxm‘m

Where. Fﬁjf:rtm Dividend (D) = 2,00,000 Shares x 9% = 218.000
Cost of Debenture (K, = Interest (1 - Tax Rate) = 10(1 _5E}%} = 50,

21 Computation of Revised Weighted Average Cost of Capital (K,)

I Sours o Funds .-'hmo;::l ®) : de:;s (W) | Costof Capital (%) | Weighted Cost (%) |
 10% Debeature T a00000) 0 o = (5)=Gx2 —
i % Preference Shares L 200,000 0.13 - i

| Equity Sharey 500,000 | { 9 1.17
R . j O3 10.42

‘r 2% Long-term Loan L. 500,000 (.33 ! : 6 348
| B Y 78]
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Thus, Revised Weighted Average Cost of Capital (K,) =7.59%

Cost of Equity Share (Ke) = Dividend

10
MarketPriccxmo ‘9—6><100 = 10.42%

Cost of Debenture (Kq) and Preference Shares (K;) = Same as previous case

Long-term Loan = Interest (1 - Tax Rate) = 12% (1 - 50%) = 12 x 0.5 = 6%

Example 29: The sources of capital structure are enumerated below:

Source 3
Equity shares 8.00,000
14% Preference shares 5,00,000
10% Term Loan 10,00,000

The expected dividend on equity capital is 10%. The company tax rate is 50%. You are required to calculate the
weighted average cost of capital, before and after tax.

Solution: Computation of Weighted Average Cost of Capital (K,) Before and After Tax
Source Book Value|Weights|Before Tax Cost|Weighted Cost|After Tax Cost| Weighted Cost
®) (%) (%) (%) (%)
(1) (2) (3) (4) 5)=3)xH) (6) (7) = (3) x (6)
Equity shares 8,00,000| 0.35 10 3.5 10 35
Preference shares|  5,00,000{ 0.22 14 3.08 14 3.08
Term Loan 10,00,000| 0.43 10 43 5 2.15
23,00,000| 1.00 10.88% 8.73%

Term Loan = Interest x (1 — Tax Rate) = 10% x (1 - .50) = 5%.

Weighted Average Cost of Capital (K,) Before Tax Cost is 10.88%.
Weighted Average Cost of Capital (K,) After Tax Cost is 8.73%.

Example 30: X Ltd. presents the following capital structure data:

Source L4
Ordinary shares (1000 shares) 50,000
10% Preference shares 20,000
12% Debentures 15,000
85,000

The dividend payment of the company is @ of 5%. Further the company raises additional funds for replacement 'g.?i
of assets of 14% debenture amounting ¥10,000.

You are ask to find out: weighted average cost of capital of existing as well as new capital structure.

Solution;
1) Computation of Weighted Average Cost of Capital (K,) of Existing Capital Structure
nt | Weights | After Tax Cost Weighted Cost
So(';;ce A(l:;;g) 3 (4) (%) (5) (%) = (3) x (4)
Ordinary Shares 50,000 0.58 5 29
Preference Shares 20,000 0.24 10 24
Debentures 15,000 0.18 12 2.16
85,000 1.00 7.46
Weighted Average Cost of Capital (K,) 1.46%
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